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1. (8 pts) 

 

Answers:

If a cell (x, y) = 1 then cell (y, x) = 1   // 100%
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2. (8 pts) 

Answers:

A path in a graph from a node back to itself that crosses each node exactly once // 100%

Inadequate, but:

A loop in a graph from one node through the other nodes and back // 100%

A path in a graph from a node back to itself that crosses each edge exactly once // 50%
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3. (12 pts) 

    

Answers:

O( N^2 ) // 100%

Inadequate, but:

O( N*LogN ) // 50%

O( (N^2)*LogN) // 50%

O( N ) // 33%

O( N^3 ) // 33%

O( (N^2)*cos(N^3) ) // 33%
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4. (12 pts) 

  

Answers:

3,3,2; Case I; O( N^2 ) // 100%

Inadequate, but:

2,2,2; Case I; O( N^2 ) // 50%

3,3,2; Case III; O( N^3 ) // 33%

3,3,4; Case II; O( N^4 * Log(N) ) // 17%

3,3,4; Case III; O( N^4 ) // 17%
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5. (12 pts) 

    

Answers:

4 // 100%

Inadequate, but:

20 // 50%

A:(% 92 24) (% 24 20) (% 20 4) 0
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6. (6 pts) 

    

Answers:

Bipartite // 100%

Inadequate, but:

2-Colored // 75%
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7. (4 pts) 

    

Answers:

Acyclic // 100%

Inadequate, but:

DAG // 50%
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8. (12 pts) 

    

Answers:

O(N!) // 25%

O(2^N!) // 25%

O(2^N) // 25%

O(N^(LogN)) // 25%

Inadequate, but:

O(1)  // -10% ...
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9. (14 pts) 

Answers:

a b d c f g e // 100%

Inadequate, but:

a b d c f * // 70% 9.8 pt

a b d c * // 50%

a b d * // 40%

a b * // 20%
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10. (4 pts) 

Answers:

Big-O is > Big-Omega // 100%

Inadequate, but:

Big-O is == Big-Omega // 30%
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11. (4 pts) 

Answers:

Big-O is == Big-Theta // 100%

Inadequate, but:

Big-O is unrelated to Big-Theta // 30%
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12. (4 pts) 

Answers:

Big-Omega is == Big-Theta // 100%

Inadequate, but:

Big-Omega is unrelated to Big-Theta // 30%
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13. (12 pts) 

    

Answers:

32 // 100%

Inadequate, but:

16 // 30%

24 // 67%   

36 // 75%

48 // 30%
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14. (12 pts) 

Answers:

3 9 10 27 38 82 50 43 12 // 100%

Inadequate, but:

3 9 10 // 50%

3 9 // 25% 3pt

3 9 43 10 38 82 50 27 12 // 50% swapped next guy

3 9 10 43 27 38 82 50 43 12 // 50% forgot guy to swap out
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